

Termes Manquants (D)

Remplissez chaque terme manquant ci-dessous.

$$\underline{\quad} - 5 = 5$$

$$7 - \underline{\quad} = 2$$

$$\underline{\quad} - 5 = 3$$

$$10 - \underline{\quad} = 4$$

$$12 - \underline{\quad} = 7$$

$$9 - \underline{\quad} = 7$$

$$\underline{\quad} - 4 = 7$$

$$4 - \underline{\quad} = 2$$

$$11 - \underline{\quad} = 5$$

$$\underline{\quad} - 4 = 4$$

$$\underline{\quad} - 2 = 6$$

$$\underline{\quad} - 4 = 8$$

$$\underline{\quad} - 6 = 2$$

$$12 - \underline{\quad} = 5$$

$$\underline{\quad} - 7 = 6$$

$$\underline{\quad} - 4 = 7$$

$$\underline{\quad} - 3 = 3$$

$$13 - \underline{\quad} = 6$$

$$\underline{\quad} - 5 = 8$$

$$\underline{\quad} - 4 = 3$$

$$10 - \underline{\quad} = 2$$

$$\underline{\quad} - 8 = 2$$

$$9 - \underline{\quad} = 5$$

$$\underline{\quad} - 7 = 3$$